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�� �: 
 � � � � � �� � � � � ����� �� � �� �
 � �� � � 
�� � � � � �� � � � 
 �   

  

� ��  ��  1:   AASH T O   

� ��  ��  2:   F AA 

� ��� � �  3 :   U n i f i e d  

� ��  ��  4:   AST M  
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�� �: � �# �� � � 
 � 
 � �$ � % & �� 	 � �� � � � � � ' 
� � �� � � ��� % �(� � �� ) ' % ��� � ������� � � % ) (� � � *�  

0. 075 ��.  
  

� ��� � �  1 :   H y d r o m e t e r  An al y s i s  

� ��  ��  2:   H y g r o m e t e r  An al y s i s  

� ��  ��  3:   Si e ve  An al y s i s  

� ��  ��  4:   Sp e c t r um  An al y s i s  
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�� �: & - � � ' ��� � ��  .  & - � � ' 
 � ���� �� % � ) ��� � 
� � ��� � �(� % � /� � 0�� ��� � �(�   

  

� ��� � �  1 :   Sh r i n k ag e  l i m i t  

� ��  ��  2:   P l as t i c  l i m i t   

� ��  ��  3:   L i qui d  l i m i t  

� ��  ��  4:   P l as t i c  i n d e x  
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� ��  ��  1:   Sh r i n k ag e  l i m i t  

� ��� � �  2 :   P l as t i c  l i m i t   
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� ��  ��  1:   Sh r i n k ag e  l i m i t  

� ��  ��  2:   P l as t i c  l i m i t   

� ��� � �  3 :   L i qui d  l i m i t  
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�� �: � �� � �� � � �% $ � �� �  (P l as t i c i t y  i n d e x )  % � /� 6 )  *� � ��� � *� 
 �   

  

� ��� � �  1 :   L L -P L  

� ��  ��  2:   L L -SL  

� ��  ��  3:   L L -P I  
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�� �: � �� � � �� $ � 0��  % �8��� �� �� � *�� 6 *� �  ' � � � � ��  � � 9 � � % � �� � *� �  :  �� �����;) � �� � �< 
�� % 6 *� �  ' � � � � ��  � � 9 � � % � �� � 4 =  75 %   

��% 6 *� �  ' � � � � ��  � � 9 � � % � �� � 200 =  45 %   

� �� � � �� � �<� � � ��& �> ) �� ? . � �� � � �  � �� ' � � 
�� � � � � ��  U n i f i e d  % � /�   
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� ��� � �  2 :   S 

� ��  ��  3:   C 

� ��  ��  4:   ����;) ��*% 2�� � 2����
'  �� & ��  
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�� % 6 *� �  ' � � � � ��  � � 9 � � % � �� � 4 =  70 %   

�� % 6 *� �  ' � � � � ��  � � 9 � � % � �� � 200 =  45 %   
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� ��  ��  2:   D I N  
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� ��� � �  4 :   AASH T O  
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� ��  ��  1:   U U  T e s t  

� ��  ��  2:   CU  T e s t  
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�� �: � �� � � �� $ � 0�� ���� � � & *� � � *�� � *� � % �*� � ��  0. 60 
' ��� � � �2� A� % �*� ��   

  

� ��� � �  1 :   0. 375 

� ��  ��  2:   0. 450 

� ��  ��  3:   0. 550 

� ��  ��  4:   0. 675 
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 � ���
 � ��� & �� $ � $ � *� � � � � % D 8�� 
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� ��  ��  1:   U n c o n f i n e  Co m p r e s s i o n  T e s t  

� ��  ��  2:   T r i ax i al  T e s t  

� ��� � �  3 :   V an e  Sh e ar  T e s t   

� ��  ��  4:   P l at e  L o ad  T e s t  
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�� �:  �� �� *� � � �� � � & E � 2��� � ���  �  0. 25 ) ;� � � � � �% � �  � ��� �� �$ � ��  4. 20 � �	 ) � ��  ��  
- ��  �� �� *� � � �� � � & E � 2� �<��� � ��� . � � � �� 8<�  22. 0 %  � �� � ��� � �<
' ��� <�� $ � �� � ��
� $ �� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

 

 

 

 

 

 

 

 

 

 

 

 

% D ) �                w e t  un i t  w e i g h t    =   4. 20/ 0. 25     =  16. 8  k g / m 3 
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                      D r y  un i t  w e i g h t  =  16. 8 / ( 1+ 0. 22)  =  13. 77 k g / m 3 

                      D r y  w e i g h t   =  13. 77x 0. 25    =   3 . 4 4  k g  * * *  

 

� ��  ��  1:   3. 16 k N  

� ��� � �  2 :   3. 45 k N  

� ��  ��  3:   4. 03 k N  

� ��  ��  4:   4. 18  k N  
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�� �: - ��  �� �� *� � � �� � � �� $ � 0�� ��� *� � � � �- *� � 
�� % 2� '  2. 65 ��� � � �2� A�  (P o r o s i t y )  42 

%  � ) ' ��� � ��� . � � � �� 8<�  24 %  � �� � �<
' ��� ' � �� � � � ����� �� � �� � � <��  (D e g r e e  o f  

s at ur at i o n )  % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

 

% D ) �  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

    S.e  =   wG
s
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    e   =   n  / ( 1-n )    =    0. 42/ ( 1-0. 42)    =   0. 72 

    S  =   0. 24 x   2. 65 /  0. 72   =   0. 8 8  

 

� ��  ��  1:   61. 4 %  

� ��  ��  2:   70. 7 %  

� ��� � �  3 :   8 8 . 3 %  

� ��  ��  4:   9 5. 6 %  
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�� �: � �� � 8<� ��� � � �- *� � 
�� % 2� ' ,  ( Gs )  =  2. 70 � � � �2� A� ,  ( n )  =  0. 35 
� $ � � � � �
$ � � � � *� ��� � �� � $ ��   

 

% D ) �                     e    =    0. 35/ ( 1-0. 35)     =    0. 54 

 

                          D r y  un i t  w e i g h t    =    {Gs   +   S. e  / ( 1+ e ) } Y w  

                                                     =    2. 70/ ( 1+ 0. 54)  

                                                     =    1. 753   k g / m 3 

   

� ��  ��  1:   1, 350 k g / m 3 

� ��� � �  2 :   1, 755 k g / m 3  

� ��  ��  3:   2, 075 k g / m 3 

� ��  ��  4:   2, 700 k g / m 3 
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�� �: 
� � ����;) � � � �� & �� � ��  
� % ) 8�� ������- ;�  ��� ���& A�  % P as s i n g  s i e ve  n o .  200 =  

40%  Cu =  6. 4 Cc  =  2. 5  

  

� ��  ��  1:   GW  o r  SW  

� ��� � �  2 :   GM  ,  GC ,  SM  ,  SC  

� ��  ��  3:   F i n e  g r ai n e d  s o i l  

� ��  ��  4:   ��*��� ��  �� ���- ;�  ���  
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�� �: � ��  A ���� & � � �� �
 � � ;� 
�� % � /� � �� � � �� 
 �   

� ;� E � 2� � ' � �� � �� - � �:
 

 
 

�	� � 

 

 

 

 

 

 

 

 

 

� ��� � �  1 :   SP  
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� ��  ��  2:   GW  

� ��  ��  3:   SW  

� ��  ��  4:   SC 
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�� �: � �� � � �� $ � 0�� - ;� � �� �� �� & �� 
 � $ ��� � F �� � �� � � �� �6 ) � � � �� & �� � �� � �<  
6 *� �  ' � � � � ��  � � 9 � � % � �� � 200 =  33 %  

L i qui d  l i m i t  =  30 %   

P l as t i c  l i m i t  =  24 %   

� �� � � �� � �<
' ��� *�  Gr o up  i n d e x  ( GI )  ��� � ' � � 
�� � � � � ��  AASH T O  % �*� � �� $ � 8�

 � ) �% � �� � � �� � *� 
 �  � �� $ � � & ; �  GI  =  ( F -35) [ 0. 2+ 0. 005( u-40) ] + 0. 01( F -15) ( P I -

10)   

  

� ��  ��  1:   -1 

� ��� � �  2 :   0 

� ��  ��  3:   4 

� ��  ��  4:   7 
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�� �: 
� 
�� � � � � � ' % E �� �� ����� �
 $ ��� � � �� ' � � ���  AASH T O   
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� ;� E � 2� � ' � �� � �� - � �:
 

 

 

 

� ��  ��  1:   A-1-a 

� ��� � �  2 :   A-1-b 

� ��  ��  3:   A-3 

� ��  ��  4:   A-2-4 
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�� �: 
� 
�� � � �  �� �� *� � � �� ����� �
 $ ��� � � �� ' � �  AASH T O   
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� ;� E � 2� � ' � �� � �� - � �:
 

 

 

� ��  ��  1:   A-5 

� ��  ��  2:   A-6 

� ��� � �  3 :   A-7-5 

� ��  ��  4:   A-7-6 

 

 

 

 

 

 

 

P e r m e a b i l i t y ,  s t r e s s e s  i n  a  s o i l  m a s s ,  s t r e s s -s t r a i n  a n d  s h e a r  s t r e n g t h  p r o p e r t i e s  o f  c o h e s i v e  

a n d  c o h e s i o n l e s s  s o i l s  

 

������: 24 

	 
�� �: 
� $ � � *� & ��� � ' & ��# �G� � � �$ ) ��� � <�� 
 � � �<� � �� ����� �� & � � �� � $ � � � � ��� . � � � & ;�
��� ���& E � 2& �� A) � ���� *� % �*� � ��  200 ) � .�. *�� ��   

� ;� E � 2� � ' � �� � �� - � �: 
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� ��  ��  1:   0. 14 m / d ay  

� ��  ��  2:   0. 24 m / d ay  

� ��  ��  3:   0. 29  m / d ay  

� ��� � �  4 :   0. 35 m / d ay  
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�� �: 
� � 6 ) � � � �� & �� $ � & � & .� � � �H 0��� �� � �  V ar i abl e  h e ad  2� � *� � ' � �� � <�� ) �

� �  H 1 =  20 H �.�� % � /�  H 2 =  10 H �. 
 � % � ) �  3 � ��  	 � � � � � �& ;� ��� � �<� � ��  L  

��� *� % �*� � ��  10 H �. 
� $ � � *� & � & .� � � �H 0��� ����  �� �� *� � � �� � � �� � �<  
� ;� E � 2� � ' � �� � �� - � �: 
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� ��  ��  1:   0. 69  c m / d ay s  

� ��  ��  2:   1. 44 c m / d ay s  

� ��� � �  3 :   2. 31 c m / d ay s  

� ��  ��  4:   3. 32 c m / d ay s  
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�� �: 
 � � � � �� ) ��  U n c o n f i n e d  c o m p r e s s i o n  t e s t  � ��  �� �� *� � � �� % & �� 6 *� �
� ;� � �� ) � �  4 % H �  �% � �  & ;�  8  % H �  �% � �  � *� � � � � � 
 � �. ' ��� �� �� *� � � �� � �� � �
% �*� � ��  145 � ��  ��  	 � � ��� 
 $ �� �*�  �� �� *� � � A�  ��  1. 2 % H �  �% � �  � *�  U n d r ai n e d  

s h e ar  s t r e n g t h  ��� � �� � �<��� *� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

  

�	� �                     s t r ai n    =    1. 2 /  8       =    0. 15 

                                   A0   =     0. 78 5x  4 x  4     =    12. 56 c m 2 

                                   A1   =     12. 56/ ( 1-0. 15)   = 14. 77  c m 2 

                                  qu    =     145/ 14. 77   =   9 . 8 2  k g / c m 2 

                                  Su    =      9 . 8 2/ 2       =  4. 9 1   k g / c m 2 * * * * *       
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� ��� � �  1 :   49  k N / s q. m  

� ��  ��  2:   57. 5 k N / s q. m  

� ��  ��  3:   9 8  k N / s q. m  

� ��  ��  4:   115 k N / s q. m  
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�� �: � �<� � �� � � �% � . $ � 0�� � & � � � �� � ;�  - �� � *� $ � *� � � <�� $ � �� ��� � <�� % �*� � ��  9 . 8 1 � �	 ) � ��  ��
 *�) ;� � � � � �% � �  
� $ � � *� � � � �% � �� � � ' & ��# �6 )  (E f f e c t i ve  s t r e s s )  ���
A�  A  

� ;� E � 2� � ' � �� � �� - � �: 

  

 

% D ) �               e f f e c t i ve  s t r e s s     =    16. 74 x  3  +   1 x  18 . 53 

                                                 =      68 . 75   k N / m 2 * * * * *  

 

� ��  ��  1:   58 . 9 4 � �	 ) � ��  ��  *� � � � � % � �   

� ��  ��  2:   63. 8 4 � �	 ) � ��  ��  *� � � � � % � �   

� ��� � �  3 :   68 . 75 � �	 ) � ��  ��  *� � � � � % � �   

� ��  ��  4:   78 . 56 � �	 ) � ��  ��  *� � � � � % � �   
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������: 2 8  

	 
�� �: � �<� � �� � � �% � . $ � 0�� � & � � � �� � ;�  - �� � *� $ � *� � � <�� $ � �� ��� � <�� % �*� � ��  9 . 8 1 � �	 ) � ��  ��
 *�) ;� � � � � �% � �  
� $ � � *� � � � �% � �� � � ' & ��# �6 )  (E f f e c t i ve  s t r e s s )  ���
A�  A  

� ;� E � 2� � ' � �� � �� - � �:  

 

 

% D ) �               E f f e c t i ve   s t r e s s    =    16. 74 x  3  +   3 x  18 . 53  

                                                  =     105. 8 1     k N / m 2        
 

� ��  ��  1:   0 � �	 ) � ��  ��  *� � � � � % � �   

� ��  ��  2:   76. 38  � �	 ) � ��  ��  *� � � � � % � �   

� ��� � �  3 :   105. 8 1 � �	 ) � ��  ��  *� � � � � % � �   

� ��  ��  4:   135. 42 � �	 ) � ��  ��  *� � � � � % � �    

 

 

   

������: 2 9  

	 
�� �: � �<� � �� � � �% � . $ � 0�� � & � � � �� � ;�  - �� � *� $ � *� � � <�� $ � �� ��� � <�� % �*� � ��  9 . 8 1 � �	 ) � ��  ��
 *�) ;� � � � � �% � �  
� $ � � *� � � � �% � �� � � ' & ��# �6 )  (E f f e c t i ve  s t r e s s )  ���
A�  A  

� ;� E � 2� � ' � �� � �� - � �: 
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% D ) �           E f f e c t i ve  s t r e s s   =    3 x  16. 74  +   3 x  18 . 53  +  4 x  ( 17. 67 F 9 . 8 1)  

                                            =    137. 25  k N / m 2 * * * * * *  

 

� ��  ��  1:   107. 8 2 � �	 ) � ��  ��  *� � � � � % � �   

� ��� � �  2 :   137. 25 � �	 ) � ��  ��  *� � � � � % � �   

� ��  ��  3:   176. 49  � �	 ) � ��  ��  *� � � � � % � �   

� ��  ��  4:   215. 73 � �	 ) � ��  ��  *� � � � � % � �   

 

 

������: 30 

	 
�� �: 
� �  F l o w  n e t  ��� % �8��� � �� � ;�  � *�  T o t al  h e ad  ���
A�  A 
' ��� *� % �*� � �� $ � 8�

 � ) �% � �� � � �� � *� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

 

 

� ��  ��  1:   4. 05 % � �  

� ��  ��  2:   6. 5 % � �  
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� ��� � �  3 :   12. 9 5 % � �  

� ��  ��  4:   17. 0 % � �  

 

������: 31 

	 
�� �: 
� �  F l o w  n e t  ��� % �8��� � �� � ;�  � *�  T o t al  h e ad  ���
A�  A 
' ��� *� % �*� � �� $ � 8�

 � ) �% � �� � � �� � *� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

 

� ��  ��  1:   3. 64 % � �  

� ��  ��  2:   7. 04 % � �  

� ��  ��  3:   10. 5 % � �  

� ��� � �  4 :   13. 4 % � �  

 

������: 32 

	 
�� �: � �� � ��� $ � 0�� ��� � � �2� A�  ( P o r o s i t y  )  % �*� � ��  35%  
� $ � � *� �� � � & *� � � *�� � *� �  ( 
V o i d  R at i o  )   

  

� ��  ��  1:   0. 65 

� ��� � �  2 :   0. 54 

� ��  ��  3:   0. 43 

� ��  ��  4:   0. 32 
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������: 33 

	 
�� �: �� � �� � ' � �� 
 � �����*��6 )  *�� *� & ��� � ' & ��# �G��� � � � H 0��� � (Co e f f i c i e n t  o f  

P e r m e abi l i t y  )  k   

  

� ��  ��  1:   F l ui d  V i s c o s i t y  

� ��  ��  2:   F l ui d  D e n s i t y  

� ��  ��  3:   Sh ap e  o f  P ar t i c l e   

� ��� � �  4 :   P o i s s o n  H  s  R at i o  

 

 

������: 3 4  

	 
�� �: 
 � � � � �� ) �� $ � � *�  Sh e ar  St r e s s  ��� � ��  �� �� *� � $ � 0�� 	 � � � �# � U n c o n f i n e d  

Co m p r e s s i o n  T e s t  - �� � �� � �<% � /� � �� % $ � �� � ) �� �  �� An g l e  o f  I n t e r n al  F r i c t i o n  =  

0 �A�% ��� �  ���  F ai l l ur e  P l an e  ���� �� �� �
� �  �� �� *� � � �� % �8��% � �� � � � 2�� � � 
' ��� �A�
% �*� 
 � � �� � � � � ' � ��   

  

� ��  ��  1:   35 �� � �  

� ��  ��  2:   40 �� � �  

� ��� � �  3 :   45 �� � �  

� ��  ��  4:   60 �� � �  

 

 

������: 35 

	 
�� �: 
� $ � � � � �& ;� ��� � ' � �� � <�� ���
' - ;� � 0� �0<� �� 
 � � *�� � *� � � ' $ � *� � % �(� � �� �� �& ;� ���& A�  (  

H i g h t e s t  Cap i l l ar y  R i s e  )  �� ) � �� ���2�
� � . � ��� *� � � �  0� 6 �� % �*� � ��  0. 074 g / c m .  

� *�� � *� � � ' $ � *� � % �(� � �� ��) �� ? . ' % $ �8�� �*���� �� ��% �*� � ��  0. 0059 2 m m .   

  

� ��  ��  1:   150 m m .  

� ��  ��  2:   200 c m .  

� ��� � �  3 :   250 c m .  

� ��  ��  4:   300 c m .   
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������: 36 

	 
�� �: � �� % $ � �� � 
 � & - � � ���� *�& � �� � � $ *� $ � 0�� ��� *�  U n c o n f i n e d  Co m p r e s s i ve   � �
& E � 2# � � �� �  �% �*� � ��  10. 0 T / m ^ 2 E � � $ ) �� � � �  �� % & � % �(�� ) ��  
� � � � �
 � � 
& �� 2� � *�  U n c o n f i n e d  Co m p r e s s i ve  St r e n g t h  ) � ) � % $ ) 8� 2. 5 T / m ^ 2 


� $ � � *� � � � ���  �� ���  � �� % $ � �� � � �<  
  

� ��  ��  1:   1 

� ��  ��  2:   2 

� ��  ��  3:   3 

� ��� � �  4 :   4 

 

 

 

������: 3 7  

	 
�� �: 
� � � � � % 
� ' & �� � � 
� ��  �� � So i l  P r o f i l e  � ) ' � A. & �� � ���� � �� 
 � �  *) ' � �<� � ��
� & � � 
 � � ;�  
� $ �  E f f e c t i ve  St r e s s  ��� �� � $ � *� ) *� � & A� ��� � �<� � �� % $ � �� �   

 

� ;� E � 2� � ' � �� � �� - � �:  
 

 

 

 

 

 

 

% D ) �             E f f e c t i ve  s t r e s s    =    1. 9 3 x  4. 8   +  3. 6( 2. 12 F 1)  +  2. 4( 2. 01-1)  

                                               =     15. 72 t / m 2 * * * * * *   

 

 

 

 

� ��  ��  1:   21. 72 T / m ^ 2 



��������	�
�� �.  ��� �  � �� � � �� � 20 /59 

� ��  ��  2:   18 . 72 T / m ^ 2 

� ��� � �  3 :   15. 72 T / m ^ 2 

� ��  ��  4:   12. 72 T / m ^ 2 

 

 

������: 38 

	 
�� �: 
 � � � . ������� <�� $ � �� � 6 *& ���� % & ��� � ' ��� ) � � � 6 �� � �� E � � 
 � 28<� �������� �� & � � �� � 
�
$ � � *� ���� ' � �� ) 0� ) � 
  �6 �� � ��  4 % � �  $ � *� � � � � 
' ��� *� ) � ) � % $ ) 8�� � ' �� . � ��� ) '
% �*� 
 � % ��� � � �� �� � � ��� � <�� $ � �� � 6 *���6 �� � ��   

� ;� E � 2� � ' � �� � �� - � �:
 

 

� ��  ��  1:   � � ' �� . � ��� ) '  20 

� ��  ��  2:   � � ' �� . � ��� ) '  40 

� ��� � �  3 :   � � ' �� . � ��� ) '  60 

� ��  ��  4:   � � ' �� . � ��� ) '  8 0 
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������: 39 

	 
�� �: � �� � � �� 
 � ��& *� � � ) ' � ����& A�   

  

� ��� � �  1 :   GW  

� ��  ��  2:   GP  

� ��  ��  3:   CL  

� ��  ��  4:   CH  

 

 

������: 4 0  

	 
�� �: 
� � � ;� � � � �� & �� � � � �$ ) ��� � <�� 6 *� � � �<� � �� � � �  Co n s t an t  h e ad  
� $ �
� � � �% � (� ��� � <��  (Se e p ag e  ve l o c i t y )  ����$ ) 6 *� � � �<� � ��   

 

� ;� E � 2� � ' � �� � �� - � �: 
  

 

 

 

 

 

 

 

 

 

�	� �                            Q   =    k i At  

                                     q   =   v. A   

                                    Q / At    =   v 

                                               =    0. 09  x  2. 4/ 4 

                                               =    0. 054 c m / s e c      

 

 

 

� ��� � �  1 :   0. 054 c m / s e c .   
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� ��  ��  2:   0. 09 0 c m / s e c .  

� ��  ��  3:   0. 216 c m / s e c .  

� ��  ��  4:   0. 360 c m / s e c .  

 

 

������: 4 1  

	 
�� �: 
� � � ;� 
� $ �  Se e p ag e  p r e s s ur e  ���
A�  A,  � �� $ � � 
 $ �$ � *� � � <�� $ � �� ��� � <��  =  
9 . 8 1 k N / m 3  

� ;� E � 2� � ' � �� � �� - � �: 

  

 

% D ) �               s e e p ag e  p r e s s ur e   =   0. 30  x   9 . 8 1  =  2. 9 43 k N / m 2   

 

� ��� � �  1 :   2. 9 4 k N / m 2  

� ��  ��  2:   3. 9 2 k N / m 2 

� ��  ��  3:   6. 8 7 k N / m 2 

� ��  ��  4:   9 . 8 1 k N / m 2 

 

 

������: 4 2  

	 
�� �: 
� � � ;� 
� $ �  E f f e c t i ve  s t r e s s  ���
A�  A % �8����� � � �$ ) ��� � <�� ,  � �� $ � � 
 $ �$ � *� �
� <�� $ � �� ��� � <��  =  9 . 8 1 k N / m 3  

� ;� E � 2� � ' � �� � �� - � �: 
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% D ) �           t o t al   s t r e s s      =      19 . 2 x  0. 40   =  7. 68   k N / m 2 

                  P o r e  w at e r  p r e s s ur e    =   0. 7  x   9 . 8 1  =   6. 8 7   k N / m 2 

                  E f f e c t i ve  s t r e s s     =     7. 68   -  6. 8 7  k N / m 2     =    0. 8 1 k N / m 2 * * * * *  

 

� ��� � �  1 :   0. 8 2 k N / m 2  

� ��  ��  2:   2. 9 4 k N / m 2 

� ��  ��  3:   3. 76 k N / m 2 

� ��  ��  4:   7. 68  k N / m 2 

 

 

������: 4 3  

	 
�� �: 
 � � � � �� ) ��  U n c o n f i n e d  c o m p r e s s i o n  t e s t  � ��  �� �� *� � � �� % & �� 6 *� �
� ;� � �� ) � �  4 % H �  �% � �  & ;�  8  % H �  �% � �  � *� � � � � � 
 � �. ' ��� �� �� *� � � �� � �� � �
% �*� � ��  150 � ��  ��  	 � � ��� 
 $ �� �*�  �� �� *� � � A�  ��  1. 2 % H �  �% � �  � *�  U n c o n f i n e d  

c o m p r e s s i ve  s t r e n g t h  ��� � �� � �<��� *� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

 

% D ) �               s t r ai n     =      1. 2/ 8    =    0. 15  

                       A1    =    A0/ ( 1-s t r ai n )    =    12. 56/ ( 1-0. 15)     =    14. 78  c m 2  

                       qu    =    150/ 14. 78     =   10. 15  N / c m 2 

                          

� ��  ��  1:   50. 6 k N / s q. m  

� ��  ��  2:   59 . 5 k N / s q. m  

� ��� � �  3 :   101. 3 k N / s q. m  

� ��  ��  4:   119  k N / s q. m  
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������: 4 4  

	 
�� �: - �� � �� � �� % $ � �� � ������ *� � �� ) �� � �� � � � % D 8�� � � � ��*� ' � � � � <�� % �*� � ��  10 t / s q. m .  ��
�� & �� � �� � % � � 8��� ��� & � �� � � � �# � U n c o n s o l i d at e d -U n d r ai n e d  t e s t  	 � � 
 � �
� � � � �� % H ) ) �% �*� � ��  10 t / s q. m .   �� �� *� � � �� 
' � �� � % �8����$ � *� � � � �  � �� � � � � �
% �*� � �� % �*� 
 �           

  

� ��  ��  1:   10 t / s q. m .  

� ��  ��  2:   20 t / s q. m .  

� ��� � �  3 :   30 t / s q. m .  

� ��  ��  4:   40 t / s q. m .  

 

 

������: 4 5  

	 
�� �: - �� � �� � �� % $ � �� � �� �� & �� � �� � % � � 8��� ��� & � �� � � � �# � U n c o n s o l i d at e d -

U n d r ai n e d  t e s t  	 � � 
 � �� � � � �� % H ) ) �% �*� � ��  7. 5 t / s q. m .  2� � *� $ � *� � � � � � �� � �
 �
� � � � ��� % �*� � ��  27. 5 t / s q. m .  � �� % $ � �� � � �<
' ��� �� ) �� � �� � � � % D 8�� � � � ��*� ' � � � � <��
% �*� 
 �       

 

� ��� � �  1 :   10 t / s q. m .  

� ��  ��  2:   17. 5 t / s q. m .  

� ��  ��  3:   20 t / s q. m .  

� ��  ��  4:   27. 5 t / s q. m .  

 

 

������: 46 

	 
�� �: - �� � �� � �� % $ � �� � ������ *� � �� ) �� � �� � � � ��� � � � % � �� � % �*� � ��  10 t / s q. m .  �� �� & ��
� �� � % � � 8��� ��� & � �� � � � �# � U n c o n s o l i d at e d -U n d r ai n e d  t e s t  	 � � 
 � �� � � � �� % H ) ) �
% �*� � ��  20 t / s q. m .   �� �� *� � � �� 
' � �� � % �8����$ � *� � � � �  � �� � � � � � % �*� � �� % �*� 
 �   

  

� ��  ��  1:   25 t / s q. m .  

� ��� � �  2 :   30 t / s q. m .  

� ��  ��  3:   35 t / s q. m .  
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� ��  ��  4:   40 t / s q. m .  

 

 

������: 4 7  

	 
�� �: - �� � ��  �� �� *� � �� � � �����*��� *�  Co h e s i o n  �� �� & �� 
 � % � � 8��� ��� & � �� � � � ) ��
2� � *�   �� �� *� � � �� � �� � �% �8��$ � *� � � � �  � �� � � � � � ��� *� % �*� � ��  20 t / s q. m .  

E � � 
  �� � � � �� % H ) ) � 10 t / s q. m .  
� $ � � *� �� � � � $ *� � � � �% & �� � �� � ���  �� �� *� �
� �� � �<  

  

� ��  ��  1:   14. 5 �� � �  

� ��  ��  2:   21. 2 �� � �  

� ��� � �  3 :   19 . 47 �� � �  

� ��  ��  4:   26. 56 �� � �  

 

 

������: 4 8  

	 
�� �:  

 

 

 

 

 

 

� ��� � �  1 :   145. 5 � �	 ) � ��  ��  *� � � � � % � �  

� ��  ��  2:   152. 8  � �	 ) � ��  ��  *� � � � � % � �  

� ��  ��  3:   28 0 � �	 ) � ��  ��  *� � � � � % � �  

� ��  ��  4:   29 5 � �	 ) � ��  ��  *� � � � � % � �  

 

 

 

������: 4 9  

	 
�� �:  
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� ��� � �  1 :   26. 4 �� � �  

� ��  ��  2:   32. 8  �� � �  

� ��  ��  3:   45 �� � �  

� ��  ��  4:   51. 7 �� � �   

 

 

S o i l  s e t t l e m e n t ,  c o n s o l i d a t i o n  t h e o r y  

 

������:  5 0  

	 
�� �:  
� � � ;� � � � J  e  l o g  p  - �� 
A�  A % � /� 
A� ������ �� ��� � � �	 � �� � ��� ���& A�  � ) ' � *�  O ve r bur d e n  

p r e s s ur e  % �*� � ��  20 � �	 ) � ��  ��  *� � � � � % � �  � *�  O ve r c o n s o l i d at i o n  r at i o  ��� � �� � � ��
� �<
' ��� *� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:   1. 0 

� ��  ��  2:   2. 0 

� ��  ��  3:   3. 0 

� ��� � �  4 :   4. 0 

 

������:  5 1  
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�� �:  
� � � � � J  e  l o g  p  � *�  Co m p r e s s i o n  i n d e x  ��� *� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:    0. 008 6 

� ��  ��  2:    0. 01 

� ��� � �  3 :   0. 43 

� ��  ��  4:    0. 68  

 

 

������:  5 2  

	 
�� �:  
� � � ;� � � � J  e  l o g  p  - �� 
A�  A % � /� 
A� ������ �� ��� � � �	 � �� � ��� ���& A�  � *�  M ax i m um  

p as t  p r e s s ur e  ��� *� % �*� � ��  $ � 8�
 � ) �% � �� � � �� � *� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:   50 k N / s q. m .  

� ��  ��  2:   60 k N / s q. m .  

� ��  ��  3:   70 k N / s q. m .  

� ��� � �  4 :   8 0 k N / s q. m .  
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������: 5 3  

	 
�� �: � �<� � �� % $ � �� � �*�� ���� �� � �� � � <�� $ � �  14 % � �  ��) �� ? . ' � �<� � �� � �� � ;�  - �� ���� � �% � .
6 �� � �� ��� <�� $ � �� � 6 *� � ' 
� � & ���� % & ��� � ' ��� % � /� � � �% � . � � �� �  - �� % � ) � 6 *� � ��  2 � K 
� *�  T i m e  f ac t o r  ��� � �<� � �� � �<
' ��� *� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

% D ) �           T v       =       2 x  365  x   3  x   10
-3

/ ( 7x 7)  

                            =     0. 045 

 

� ��  ��  1:   0. 011 

� ��  ��  2:   0. 027 

� ��  ��  3:   0. 034 

� ��� � �  4 :   0. 045 
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�� �: � �<� � �� % $ � �� � �*�� ���� �� � �� � � <�� $ � �  12 % � �  ��) �� ? . ' � �<� � �� � �� � ;�  ���� � �% � . 6 ��
� �� ��� <�� $ � �� � 6 *� � ' 
� � & ���� % & ��� � ' ��� % � /� � � �% � . � � �� �  - �� % � ) � 6 *� � ��  3 � K � *�  
T i m e  f ac t o r  ��� � �<� � �� � �<
' ��� *� % �*� � �� $ � 8�
 � ) �% � �� � � �� � *� 
 �   
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� ;� E � 2� � ' � �� � �� - � �: 

  

 

% D ) �           T v       =       3 x  365  x   3  x   10
-3

/ ( 12 x  12)  

                            =     0. 023 

 

� ��  ��  1:   0. 011 

� ��� � �  2 :   0. 023 

� ��  ��  3:   0. 068  

� ��  ��  4:   0. 09 1 

 

 

 

 

 

 

 

 

������: 5 5  

	 
�� �: � �<� � �� % $ � �� � $ � �  4 % � �  � � �  �� �� ;*� ' $ � *� � � �<� �� � �  2 � �<�  ��� *� & ��� � ' & ��# �G� � �
���  �� � � � � <��  (Co e f f i c i e n t  o f  c o n s o l i d at i o n ) , CV  0. 8  ) ;� � � � � �% � �  *�� K - �� ��
� <�� $ � �� E � � � �� �� � � ' ��� � ) �� ��� 
 $ �% � �� � � � �% � �� % 2����0<� 
 � � �<� � �� % $ � �� �  �� � �
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�� � � � *� � � � ���  �� � � � � <�� % � �� �0<�  9 0 % � �� �% H (�  �% �8��% � ) � 6 *� � �� � � � � ��% � 8��  

( T i m e  F ac t o r  =  0. 8 48  ���� � � ���  �� � � � � <��  9 0% )   

 

% D ) �                        t      =     0. 8 48  x  ( 2)
2

/ 0. 8  

                                     =     4. 24  � K * * * * *  
  

� ��  ��  1:   11 % � 8��  

� ��  ��  2:   18  % � 8��  

� ��  ��  3:   36 % � 8��  

� ��� � �  4 :   51 % � 8��  

 

 

������: 56 

	 
�� �: ���
 � � 8�2L  �� � � �
 � � � � � �� � <�� $ � �� � ) ' � � � �� A�  �� ��� � �� � � �  D e n s e  s an d  

$ � 8� St i f f  c l ay   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:   % & ��  A  

� ��� � �  2 :   % & ��  B  

� ��  ��  3:   % & ��  C 

� ��  ��  4:   % & ��  A � ) '  % & ��  B  

 

 

������: 57 
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�� �: ���
 � � 8�2L  �� � � �
 � � � � � �� � <�� $ � �� � ) ' � � � �� A�  �� ��� � �� � � �  L o o s e  s an d  

$ � 8� So f t  c l ay   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:   % & ��  A  

� ��  ��  2:   % & ��  B  

� ��� � �  3 :   % & ��  C  

� ��  ��  4:   % & ��  A � ) '  % & ��  B 

 

 

������: 5 8  

	 
�� �: � �� % $ � �� �  �� �� *� � � �� � & � � 
 � � ;�  % �8��� �� �� �� & �� $ � � *� � � � �� A�  ��  �� �� *� 
� �
� � � �� & �� � �� � �< Co m p r e s s i o n  i n d e x  =  0. 40 P r e -c o n s o l i d at i o n  p r e s s ur e ,  =  

8 7. 1 k N / m 2 O ve r  Co n s o l i d at i o n  R at i o ,  O CR  =  0. 9 0 Co e f f i c i e n t  o f  

c o n s o l i d at i o n  =  1. 20 x  10-3 m m / s e c .  
� $ � � *� ��� � � � �) 0�  D  ���% � (�  �� �� *� �
� �� �� �� & ��   

� ;� E � 2� � ' � �� � �� - � �: 

  

 

% D ) �                    Cc   =    0. 40 
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                          O CR    =    0. 9 0 

                       M ax i m um  p as t  p r e s s ur e    =    8 7. 1 k N / m 2 

                       O ve r  bur d e n  p r e s s ur e   =   8 7. 1/ 0. 9     =    9 6. 78  k N / m 2 

          E f f e c t i ve  s t r e s s     =    ∑Y L H  

                  9 6. 78     =     1. 50 x  17  +  H ( 20 F 9 . 8 1)  

                                =    6. 9 9 5   m    * * * * *  

 

� ��  ��  1:   4 m .  

� ��  ��  2:   5 m .  

� ��  ��  3:   6 m .  

� ��� � �  4 :   7 m .  

 

 

������: 5 9  

	 
�� �: � �� % $ � �� � $ � �  12 % � � ��) �� ? . ' � � � � ' � � � � <�� ��� ��<� � �� � � � � ) ' � �� � ) *� � $ � 8�
���% � �� � � *�  M D o ubl y  d r ai n e d N  � ��� $ �� � � � � �� *� � �<� � �� ����� ;*� �� � � � � ) ' � �� � ) *� �
��� � �� % $ � �� � � �<� ��
 $ �� <�� � ' � � � ��� �� ��� � � � *� � �<� � �� % $ � �� �  	 � � � �� % $ � �� � �� 
c o e f f i c i e n t  o f  c o n s o l i d at i o n ,  Cv =  8 . 0x 10-8  m 2/ s  
� $ � % � �� �% H (�  �� � � �� A�  ��  
.  � � � �) 0�  - % � �  
� � 6 �� � �� � � � ��� � �<� � �� % $ � �� � $ ) �� 
� � ��� <�� $ � �� �� � � ' ���  
5 � K  

� ;� E � 2� � ' � �� � �� - � �: 
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% D ) �                     T v    =       t . Cv/ H
2

 

                                   =    5 x  365 x  24 x  60 x  60 x  8  x  10
-8

/ ( 6 x  6)  

                                   =     0. 35    

                             Z / H d     =    3/ 6   =   0. 5   

 

� ��  ��  1:   55 %   

� ��� � �  2 :   61 %  

� ��  ��  3:   70 %  

� ��  ��  4:   75 %  

 

 

������: 60  

	 
�� �: � �� % $ � �� � $ � �  12 % � � ��) �� ? . ' � � � � ' � � � � <�� ��� ��<� � �� � � � � ) ' � �� � ) *� � $ � 8�
���% � �� � � *�  M D o ubl y  d r ai n e d N  � ��� $ �� � � � � �� *� � �<� � �� ����� ;*� �� � � � � ) ' � �� � ) *� �
��� � �� % $ � �� � � �<� ��
 $ �� <�� � ' � � � ��� �� ��� � � � *� � �<� � �� % $ � �� �  	 � � � �� % $ � �� � �� 
c o e f f i c i e n t  o f  c o n s o l i d at i o n ,  Cv =  8 . 0x 10-8  m 2/ s  
� $ � % � �� �% H (�  �� � � �� A�  ��  
.  � � � �) 0�  6 % � �  
� � 6 �� � �� � � � ��� � �<� � �� % $ � �� � $ ) �� 
� � ��� <�� $ � �� �� � � ' ���  
5 � K  

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:   40 %   
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� ��� � �  2 :   46 %  

� ��  ��  3:   52 %  

� ��  ��  4:   58 %  

 

 

������: 6 1  

	 
�� �: � �� % $ � �� � $ � �  12 % � � ��) �� ? . ' � � � � ' � � � � <�� ��� ��<� � �� � � � � ) ' � �� � ) *� � $ � 8�
���% � �� � � *�  M D o ubl y  d r ai n e d N  � ��� $ �� � � � � �� *� � �<� � �� ����� ;*� �� � � � � ) ' � �� � ) *� �
��� � �� % $ � �� � � �<� ��
 $ �� <�� � ' � � � ��� �� ��� � � � *� � �<� � �� % $ � �� �  	 � � � �� % $ � �� � �� 
c o e f f i c i e n t  o f  c o n s o l i d at i o n ,  Cv =  8 . 0x 10-8  m 2/ s  
� $ � % � �� �% H (�  �� � � �� A�  ��  
.  � � � �) 0�  9  % � �  
� � 6 �� � �� � � � ��� � �<� � �� % $ � �� �  $ ) �� 
� � ��� <�� $ � �� ��
� � ' ���  5 � K  

� ;� E � 2� � ' � �� � �� - � �: 

  

 

 

 

� ��  ��  1:   55 %   

� ��� � �  2 :   61 %  

� ��  ��  3:   70 %  

� ��  ��  4:   75 %  
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������: 6 2  

	 
�� �: - �� � � � - �� �� ��� 
 $ �% � �� � � � �% � �� 
 � � � � � ��� 	 � � % D ) ��� % 2����0<�  100 k P a � � *� �<� � ��
% $ � �� � ������ � � �$ � �  12 �. � ) ' ��� � � � ' � � � � <�� � � �  D o ubl y  d r ai n ag e d , Cv 

= 8 . 0* 10-8  m 2/ s  
� � � ' �� . � � � �� �� � <�� ���� �� � � �� ;*
 � � �<� � �� % $ � �� � . . � � � �) 0�  
3 �.$ ) �� � � � � *�& � �� � 	 � � � & � �� �  5 � K 	 � � � �� $ � � � *� 	 � � � & � �� � � �� � ) *� � � *�
 $ �
% D 2� ' � � � �% � �� 
 � � � � � ��� % �*� � �<�   

� ;� E � 2� � ' � �� � �� - � �: 
 

 

 

 

 

 

  

% D ) �                         T v      =      0. 35 

                                z / H d   =     3/ 6    =    0. 5 

                               U z     =       1  -  u
z
/ u

0  
 

                                u
z
   =   ( 1-0. 61)  x  100 

                                       =     39   k p a * * * * *  

 

� ��  ��  1:   30 k P a.   

� ��  ��  2:   35 k P a.   
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� ��� � �  3 :   39  k P a.  

� ��  ��  4:   45 k P a.  

 

 

������: 6 3  

	 
�� �: - �� � � � - �� �� ��� 
 $ �% � �� � � � �% � �� 
 � � � � � ��� 	 � � % D ) ��� % 2����0<�  100 k P a � � *� �<� � ��
% $ � �� � ������ � � �$ � �  12 �. � ) ' ��� � � � ' � � � � <�� � � �  D o ubl y  d r ai n ag e d , Cv 

= 8 . 0* 10-8  m 2/ s  
� � � ' �� . � � � �� �� � <�� ���� �� � � �� ;*
 � � �<� � �� % $ � �� � . . � � � �) 0�  
6 �.$ ) �� � � � � *�& � �� � 	 � � � & � �� �  5 � K 	 � � � �� $ � � � *� 	 � � � & � �� � � �� � ) *� � � *�
 $ �
% D 2� ' � � � �% � �� 
 � � � � � ��� % �*� � �<�   

� ;� E � 2� � ' � �� � �� - � �: 

  

% D ) �                         T v      =      0. 35 

                                z / H d   =     6/ 6    =    1 

                               U z     =       1  -  u
z
/ u

0  
 

                                u
z
   =   ( 1-0. 46)  x  100 

                                       =     54  k p a * * * * *  

 

� ��  ��  1:   45 k P a.   

� ��� � �  2 :   54 k P a.   

� ��  ��  3:   60 k P a.  

� ��  ��  4:   65 k P a.  
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������: 6 4  

	 
�� �:  

 

 

 

 

 

 

% D ) �  

 

 

 

 

  

   Sc    =    {0. 1x 2x l o g ( 75/ 50) }/ ( 1+ 1. 2)   +   {0. 5x 2x l o g ( 100/ 75) }/ ( 1+ 1. 2)  

          =   0. 073 m  * * * * *  

 

� ��  ��  1:   160 m m  

� ��  ��  2:   8 0 m m  

� ��� � �  3 :   73 m m  

� ��  ��  4:   36 m m  

 

��������	
 overconsolidated clays 

������

�� �� 	 
 � �  e-l o g  p  � � �� ��� � � �� �  h j  � � 
 �� � �� 6 . 1 1  � ��� � � � �� �� � � �� �� 	 �� � �� �  
r eb o u n d  c u r v e �  � �
 �� 	 � � � �� �� � �!� ��  s w el l  i n d ex ( C s )  " �� � �!� �

������
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������: 6 5  

	 
�� �: � �<� � �� % $ � �� � ���� �� � �� � � <�� $ � �  5 % � �  �� ;*� ' $ � *� � � �<� �� � � 2� A� � <��  % �8��% � (�
 �� �� *� � � �� % $ � �� � �� �� & �� � � � ���  �� � � � � <�� $ � 0�� �� � 	 � � 
 � � �� �� *� � $ � �  1 � �<�  
(2. 5 c m )  � ) ' ��� � � � ' � � � � <�� ��<� � �� � � � � ) ' � �� � ) *� �  � � � � �% � � � ' $ �6 ) ����;) 	 � �

 � �� �# ���� % �� �% ) �� � (T ay l o r L s  m e t h o d )  H 0�� �*� � � *� % � ) � � � � ���  �� � � � � <�� ��� 50%  

% �*� � ��  12. 5 � � �� - ��  ��� � � � � *�& � �� � �� � � � % $ � 8�� �<� � �� % $ � �� � � �< 
� � � � � ' % �
% � ) � � � � �� A�  �� ��� 9 0%   

 

 

% D ) �                       Cv  =   0. 19 6  x   ( 1. 25)
2

/ 12. 5 

                                    =    0. 0245   c m 2/ m i n  

                              T    =   0. 8 48  x  ( 2. 5)
2

x  100 x  100/ 0. 0245  

                                   =      4. 11 � K * * * * * *  
 

� ��  ��  1:   1 � K 
� ��  ��  2:   2 � K 
� ��  ��  3:   3 � K 
� ��� � �  4 :   4 � K 
 

 

������: 6 6  

	 
�� �:  
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% D ) �          Ss e c     =    {0. 01 x  2 x  l o g ( 10/ 1) }/ ( 1+ 0. 8 )  

                         =    0. 011  m  

             Sp r i      =      {0. 5 x  2 x  l o g  ( 100/ 50) }/ ( 1+ 0. 8 )  

                         =    0. 167   m    

            Sp r i  +  Ss e c    =   0. 178   m  * * * * * *  

 

 

� ��� � �  1 :   178  m m  

� ��  ��  2:   8 9  m m  

� ��  ��  3:   16 c m  

� ��  ��  4:   32 c m  

 

 

������: 6 7  

	 
�� �: ���
 � ��*- ;�  ���  % � ��� � � �� � � � � F � � � . � $ � 8� 6 ) ��� % � �� 
� � �� � � � � � � A� ���  ��
��� � ��  (c o n s o l i d at i o n )  ?   

  

� ��  ��  1:   �� � � � � � � A� ���  �� ��� � ��  (c o n s o l i d at i o n )  
' ��� 
 $ ��� ) � �� ��� *�� � *� � 
 � � ��
) � ) � .  

� ��� � �  2 :   �� � � � � � � A� ���  �� ��� � ��  (c o n s o l i d at i o n )  
' ��� 
 $ �� �� ) �� � �� � � � % D 8�� ��� � ��
) � ) � .  

� ��  ��  3:   �� � � � � � � A� ���  �� ��� � ��  (c o n s o l i d at i o n )  
' ��� 
 $ ��� ) � �� ��& ��� � ' & ��# �G� � �
� ' � � � � <�� ) � ) � .  

� ��  ��  4:   �� � � � � � � A� ���  �� ��� � ��  (c o n s o l i d at i o n )  & � �� � - 
�� ) �� � � � 
� �  ) �� ? . '  
P i s t o n -s p r i n g  an al o g y .   

 

 

������: 68 
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�� �: � A. & �� � �
 � ���
 � �����*��6 ) � � ' �� $ � 8�� � ' �� � ��� ���& A�  *��� � � � ) ' �� � � � � �
�� A�  �� ��� � �� % $ � �� �   

  

� ��  ��  1:   St r e s s  h i s t o r y   

� ��  ��  2:   W at e r  c o n t e n t  � ) '  At t e r be r g L s  l i m i t   

� ��  ��  3:   � � *� � ' � �� 
 � � �� % $ � �� �  

� ��� � �  4 :   � � � �$ � � � � *� � $ �� & ;� & A�  (M ax i m um  d r y  d e n s i t y )  
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������: 69 

	 
�� �: �*� � �� �6 ) � � � �� & ��  Co n s o l i d at i o n  t e s t  ��� � �� � � �� $ � 0��  .  � ' � �� � � � �) 0�
$ � 0��  � � � � F � *� �*� � 2� % & �� 	 � �� � � � �& ��2�� # �� ' $ � *� �  vo i d  r at i o  � ) '  L o g  ( P L )  ��
��<� $ ��  3 % & �� � �� � & � � 
 � E � 2 ���
 � ����*� � � � � & � A� 
� � % & �� 	 � �� ��� � ) *� � � �<  

� ;� E � 2� � ' � �� � �� - � �: 

  

 

� ��  ��  1:   % & �� 	 � ��  C � � � 
' % � /� % & �� � � � �& ��2�� # ����% � �� �0<� 
 � & � � �	 � � ��� � �  � � 
� �� 
 �
& E � 2
� ��   

� ��  ��  2:   % & �� 	 � ��  A � � � 
' % � /� % & �� � � � �& ��2�� # �
 � $ ��� � F �� � �� � � � ) '  �� �� *� � % � /�
 �� �� *� � ������ A. E � 2( U n d i s t ur be d  Sam p l e )  % 2� � ' & � �� � - $ �  M ax i m um  P as t  

P r e s s ur e  �� �  
� ��  ��  3:   % & �� 	 � ��  B � � � % � /� % & �� � � � �& ��2�� # ������ ��� 
� �  �� �� *� � � � �  D i s t ur be d  ��*

& � �� � - $ �  M ax i m um  P as t  P r e s s ur e  �� � 
� ��� � �  4 :   - ;� �A� ���  
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�� �: � �� � ) *� � 
 � ���
 � �����*- ;�  ��� 
 � �L ? F �� � � �� A�  �� � � �  O n e  d i m e n s i o n  ���  

T e r z ag h i   

:  

� ��  ��  1:   � *�  O ve r -Co n s o l i d at i o n  r at i o  ( O CR )  � 8��� � � & *� � ��� � � � �% � �� ����� � ���& A� 
 �
�� �  � � � � � �<� % � �� � � *�  M P r e -c o n s o l i d at i o n  p r e s s ur e N  $ � 8� M M ax i m um  P as t  

P r e s s ur e N   *� � � � �% � �� 
 � � M

A� ��   

� ��  ��  2:   - �� � �� �� O CR  =  1 - ;� % � �� � � *�  M N o r m al -c o n s o l i d at e d  So i l N  ,  - �� � �� �� O CR  >  1 

- ;� % � �� � � *�  M O ve r -c o n s o l i d at e d  So i l N  � ) '  - �� � �� �� O CR  <  1 - ;� % � �� � � *�  
M U n d e r -c o n s o l i d at e d  So i l N  H 0�� ��*� *�� 2�   

� ��  ��  3:   �L ? N �� � � �� A�  �� � � �  O n e -d i m e n s i o n  % � /� � � � � � ' �� . �� � � � ) ' �� � � � � �
�� A�  �� ��� � �� ������ � � �H 0�� <�� � ��� :  % � *�  � �� % $ � �� � 	 � � 2�
� � . � - 0� � � ' � � �� � � � ��
� � � ��� � �� (St r e s s  h i s t o r y )  � �� � H 0�� � � � � �� � �� �� �� & �� 
 � $ ��� � F �� � �� � �  ���
% � (�  �� �� *� � � �� � � �  U n d i s t ur be d  � ) '  ��� ��*��� ) � � 	 � � � & � �� � �8�� :  
 � � ' $ � *� �
 �� �  *� � ��  

� ��� � �  4 :   ��*�����- ;�  
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�� �: 
� � � ;�  �� � �<� � ��  - �� ��� � � � ��  50 k P a � � ' ��� ���6 �� � �� % � /� � � �% � . � � �� � �� � 
� ��*

�� � ��  
' ��� � � �� A�  �� % � 8��� 
� �  P r i m ar y  Co n s o l i d at i o n  % � /� % �*� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 

 

 

� ��  ��  1:   24 c m  

� ��  ��  2:   34 c m  

� ��  ��  3:   44 c m  

� ��� � �  4 :   65 c m  

 

������: 72 

	 
�� �: ���  c o n s o l i d at i o n  t e s t  	 � � 
 � � �� �� *� � � �� % $ � �� � ���� �� � �� � � <�� $ � �  20 ��. 
2� � *� ���$ � *� � � � � � � ��� � *� $ � 0��  ��� 
 � �% � ) �  10. 4 � � ��
0� 
' �� d e g r e e  o f  

c o n s o l i d at i o n  =  9 0%  - �� � �� % $ � �� � � � �� % � �� � � �� � �<$ � �  4 % � � ��& E � 2� � �
� ' � � � � <�� % $ �8�� � �� 
 �  l ab � ) ' $ � *� � � � � � � ��� % �*� � ��  
' 
 � �% � ) � � � � % �*� 
 � 
0�

' �� d e g r e e  o f  c o n s o l i d at i o n  =  9 0%   

  

� ��  ��  1:   1. 44 � ��  

� ��� � �  2 :   72. 2 � ��  

� ��  ��  3:   28 8 . 9  � ��  

� ��  ��  4:   354. 3 � ��  

 

 

 

B e a r i n g  c a p a c i t y  t h e o r y  
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�� �:  
 � � � � � *�& � �� � 9 � � � 6 *� � � � � �  ( St r i p  F o o t i n g  )  � � � �� % $ � �� � ������ ' � �� � <�� 
  �� �� ) 0� �� �
H 0�� ��� *�  *� � : � �� � �< 
� $ � � *� � � � ��  �  *� � ���  U l t i m at e  So i l  Be ar i n g  Cap ac i t y  % �8��9 � �
� 6 *�� ;*���6 �� � ��  � ) ' % �8��9 � � � 6 *�� ;*���� � � �) 0�  1 �. 
� � 6 �� � ��   

  

 

% D ) �          ���6 �� � ��      qu   =    CN c  

                 ���� � � �) 0�  1 % � �      qu  =   CN c   +   qN q 

                 � � � ��  �  *� �     =     qN q 

                                          =     1. 9 5 x  1 x 1 

                                          =    1. 9 5  t / m 2 

 

� ��  ��  1:   0. 9 5 T / m ^ 2  

� ��  ��  2:   1. 45 T / m ^ 2  

� ��� � �  3 :   1. 9 5 T / m ^ 2  

� ��  ��  4:   2. 45 T / m ^ 2 
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�� �: % & � % �(�$ � ��  �� & ��% $ ) ��� �
� A� �& �� � �  400 ��) ) �% � �  � � � �� ;*
 � � �<� � �� % $ � �� � � �� � ;�  � �� ) �� � ��
� <�� $ � �� � � ' ) �� ��� % & � % �(� �� � �<% � /� % �*� 
 �  	 � � ��*� �� � <�� $ � �� % & � % �(�  

� �� $ � � 
 $ �  
$ � *� � � � � % & �� � �� � 6 �� % & � % �(�% D ) ��� � � ' ) ��  =  23 k P a ( k N / m 2)   

$ � *� � � � �  �� � �� � � ) � � % & � % �(�� � ' ) ��  =  450 k P a ( k N / m 2)   

� ;� E � 2� � ' � �� � �� - � �: 
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% D ) �        Q f    =      23 x  4x 0. 4x 15       =    552  k N  

               Q b  =     450 x  0. 4 x  0. 4       =   72  k N  

               � �� � <�� $ � �� � � � �A� & ;� & A�   =   624  k N  * * * * *  

 

� ��  ��  1:   109  k N  

� ��  ��  2:   417 k N  

� ��  ��  3:   620 k N  

� ��� � �  4 :   624 k N  
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�� �: - �� 9 � � � � � � 6 *� � � �� �  ( ��� � � �� � � �� � � � *� � � � �� � �� � �� � ) � � � � � 6 �� � ��   

U l t i m at e  be ar i n g  c ap ac i t y  
' ��� *� % � /� % �*� 
 �  - �� � ' � �� � <�� 
  �� �� �� ;*
 � � ' � �� ) 0�
�� �   

� ;� E � 2� � ' � �� � �� - � �: 
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% D ) �         qu   =     0. 5 x  18  x  1 x  15. 1 

                       =     135. 9   k N / m 2 * * * * *    

 

� ��  ��  1:   125. 6 k P a ( k N / m 2)  

� ��� � �  2 :   135. 9  k P a ( k N / m 2)  

� ��  ��  3:   140. 5 k P a ( k N / m 2)  

� ��  ��  4:   154. 2 k P a ( k N / m 2)  
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�� �: - �� 9 � � � � � � 6 *� � � �� �  ( ��� � � �� � � �� � � � *� � � � �� � �� � �� � ) � � � � � 6 �� � ��
% $ � �� �  �����& E � 2��*� ' � � � � <��  
' �� U l t i m at e  Be ar i n g  c ap ac i t y  % � /� % �*� 
 �   

� ;� E � 2� � ' � �� � �� - � �: 
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% D ) �           qu   =    30 x  5. 14 

                         =     154. 2  k N / m 2 * * * * *  

 

� ��� � �  1 :   154. 2 k P a 

� ��  ��  2:   135. 9  k P a 

� ��  ��  3:   125. 8  k P a 

� ��  ��  4:   110. 6 k P a 

 

 

������: 7 7  

	 
�� �: � � � � �� � ���� 9 � � � � �  8<� 
 � � ;� 
 � 
�� � *� % � /� � � � � �� � �� � � 
 �   

� ;� E � 2� � ' � �� � �� - � �: 
  

 

 

 

� ��  ��  1:   Sl i d i n g  

� ��  ��  2:   O ve r t ur n i n g  

� ��� � �  3 :   Ge n e r al  s h e ar  

� ��  ��  4:   P un c h i n g  s h e ar  
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�� �: % & � % �(���� � *�% � (� � <�� ����� ;*
 � & E � 2% � 8�� � $ �� � �� � ;� 
' ��� � � � � ' ��� � � �� 
 � ���
� � ' ��� � �� % & � % �(�% � /� $ ) �� % � /� $ ) ��   

� ;� E � 2� � ' � �� � �� - � �: 

 

 

� ��  ��  1:   Co m p r e s s i ve  f o r c e  

� ��� � �  2 :   T e n s i o n   

� ��  ��  3:   H o r i z o n t al  f o r c e  

� ��  ��  4:   T o r s i o n  
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�� �: % & � % �(�� *�& � �� � 
 � � �<� � �� � �� � ;�  
'  ��� � �� � 0� - 0� ���
 � % � /� 2�% � ?   

� ;� E � 2� � ' � �� � �� - � �: 
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� ��  ��  1:   Ge n e r al  s h e ar  f ai l ur e  

� ��� � �  2 :   N e g at i ve  s k i n  f r i c t i o n  

� ��  ��  3:   L at e r al  m o ve m e n t  

� ��  ��  4:   P i l e  d e vi at i o n  

 

 

������: 8 0 

	 
�� �: 9 � � � � � & ��% $ ) ��� �6 8� 6 ��  � � �� �  2 % � �  � � �  4 % � �  � � � �� ;*� � � �<� �� � � ���� � � �) 0�  2 % � �

� � 6 �� � ��  � �� � � � � � 
 � � � � � � �  ( � � �� <�� $ � �� 9 � � � � � ) 8 0  ��  
� � � ' �� . � *� $ � *� � � � �
���% � �� �0<� � � � �<� � �� ���� ' � �� 9 � � � � � � ) ' ���� � � �) 0�  8  % � � 
� � 6 �� � �� % � 8��� 
� � 9 � � � � � � �< 
� �� $ � � 
 $ �
 � �� � � � � ' 
� � $ � *� � � � �  2: 1  

  

� ��� � �  1 :   10 t / m 2 � ) '  1 t / m 2 

� ��  ��  2:   10 t / m 2 � ) '  0. 67 t / m 2 

� ��  ��  3:   20 t / m 2 � ) '  1 t / m 2 

� ��  ��  4:   20 t / m 2 � ) '  0. 67 t / m 2 

 

 

������: 8 1  

	 
�� �: ���
 � ��*
 � *) �� ? . ' � � � % � ) 8���  �� ��� � �� 
  �9 � � � � � ������ 
 $ �% � �� � � � � �� � �  
  

� ��  ��  1:   Ge n e r al  Sh e ar  

� ��  ��  2:   L o c al  Sh e ar  

� ��  ��  3:   P un c h i n g  Sh e ar  

� ��� � �  4 :   Be am  Sh e ar  
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�� �: �� � �� � ' � �� 
 � �����*��6 )  *�� *�  U l t i m at e  Be ar i n g  Cap ac i t y  ��� � �� 
  �9 � � � � �   

  

� ��  ��  1:   � <�� $ � �� � �� % $ � 8�9 � � � � �  
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� ��  ��  2:   � � � �� � �� � ��� 9 � � � � �  

� ��  ��  3:   � � � �) 0� ��� 9 � � � � � 
� � 6 �� � ��  

� ��� � �  4 :   � A. E � 2��� � �� � � � ���
 � ���� 9 � � � � �  
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�� �: 9 � � � � � � 6 *� � � � � � % $ � �� �  (s t r i p  f o o t i n g )  P M� 
��� ;*
 � � �<� � �� % $ � �� � ) 0�  1 % � �  � ' � �� � <�� 
  � 
� �� ) 0� �� � % �8��% ��� � � �� � � � �� � �� � ��� 9 � � � � �  � �� % $ � �� � ��$ � *� � � <�� $ � �� % �*� � ��  21 

k N / m 3 
� $ � � *� � �� ) ��  � � � �� � � � ' ) �� ��� 9 � � � � � � 6 *
 � � � . �
 � �� � � � �% � � � ' $ �� � � ��*
� ' � � � � <��  	 � � ��� �� ) �� � �� � � � % D 8�� � � � ��* � ' � � � � <��  (un d r ai n e d  s h e ar  s t r e n g t h ,  s u)  

% �*� � ��  105 k N / m 2 � �� $ � �  N c  =  5. 14,  N q =  1  

 

% D ) �            qu   =    105 x  5. 14  +   21 x  1 x  1 

                          =     560. 7 k N / m 2 * * * * *  

  

� ��  ��  1:   540 k P a ( k N / m ^ 2)  

� ��� � �  2 :   561 k P a ( k N / m ^ 2)  

� ��  ��  3:   224 k P a ( k N / m ^ 2)  

� ��  ��  4:   216 k P a ( k N / m ^ 2)  

 

 

 

������: 8 4  

	 
�� �: 9 � � � � � � 6 *� � � � � � % $ � �� �  (s t r i p  f o o t i n g )  P M� 
��� ;*
 � � �<� � �� % $ � �� � ) 0�  1. 5 % � �  � ' � ��
� <�� 
  �� �� ) 0� �� � % �8��% ��� � � �� � � � �� � �� � ��� 9 � � � � �  � �� % $ � �� � ��$ � *� � � <�� $ � �� % �*� � ��  20 

k N / m 3 
� $ � � *� � �� ) �� � � � �� � � � ' ) �� ��� 9 � � � � � � 6 *
 � � � . �
 � �� � � � �% � � � ' $ �� � � ��*
� ' � � � � <��  	 � � ��� �� ) �� � �� � � � % D 8�� � � � ��*� ' � � � � <��  (un d r ai n e d  s h e ar  s t r e n g t h ,  s u)  

% �*� � ��  9 5 k N / m 2 � �� $ � �  N c  =  5. 14,  N q =  1  

 

 

% D ) �            qu    =    9 5 x  5. 14  +   20 x  1. 5 x  1 

                           =     518 . 3  k N / m 2 * * * * *  
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� ��  ��  1:   48 8  k P a ( k N / m ^ 2)  

� ��  ��  2:   207 k P a ( k N / m ^ 2)  

� ��  ��  3:   19 5 k P a ( k N / m ^ 2)  

� ��� � �  4 :   518  k P a ( k N / m ^ 2)  

 

 

������: 85 

	 
�� �: 9 � � � � � � 6 *� � � � � � % $ � �� �  (s t r i p  f o o t i n g )  P M� 
��� ;*
 � � �<� � �� % $ � �� � ) 0�  2 % � �  

� ' � �� � <�� 
  �� �� ) 0� �� � % �8��% ��� � � �� � � � �� � �� � ��� 9 � � � � �  � �� % $ � �� � ��$ � *� �
� <�� $ � �� % �*� � ��  20 k N / m 3 
� $ � � *� � �� ) �� � � � �� � � � ' ) �� ��� 9 � � � � � � 6 *
 � � � . �

 � �� � � � �% � � � ' $ �� � � ��*� ' � � � � <��  	 � � ��� �� ) �� � �� � � � % D 8�� � � � ��*� ' � � � � <��  
(un d r ai n e d  s h e ar  s t r e n g t h ,  s u)  % �*� � ��  9 5 k N / m 2 � �� $ � �  N c  =  5. 14,  N q =  

1  

  

� ��  ��  1:   211 k P a ( k N / m ^ 2)  

� ��  ��  2:   19 5 k P a ( k N / m ^ 2)  

� ��  ��  3:   48 8  k P a ( k N / m ^ 2)  

� ��� � �  4 :   528  k P a ( k N / m ^ 2)  

 

 

������: 86 

	 
�� �: 9 � � � � � � 6 *� � � � � � % $ � �� �  (s t r i p  f o o t i n g )  P M� 
��� ;*
 � � �<� � �� % $ � �� � ) 0�  2 % � �  

� ' � �� � <�� 
  �� �� ) 0� �� � % �8��% ��� � � �� � � � �� � �� � ��� 9 � � � � �  � �� % $ � �� � ��$ � *� �
� <�� $ � �� % �*� � ��  18  k N / m 3 
� $ � � *� � �� ) �� � � � �� � � � ' ) �� ��� 9 � � � � � � 6 *
 � � � . �

 � �� � � � �% � � � ' $ �� � � ��*� ' � � � � <��  	 � � ��� �� ) �� � �� � � � % D 8�� � � � ��*� ' � � � � <��  
(un d r ai n e d  s h e ar  s t r e n g t h ,  s u)  % �*� � ��  40 k N / m 2 � �� $ � �  N c  =  5. 14,  N q =  

1  

  

� ��  ��  1:   8 2 k P a ( k N / m ^ 2)  

� ��  ��  2:   9 7 k P a ( k N / m ^ 2)  

� ��  ��  3:   206 k P a ( k N / m ^ 2)  
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� ��� � �  4 :   242 k P a ( k N / m ^ 2)  

 

 

������: 8 7  

	 
�� �: 
� $ � � *� � <�� $ � �� � � � �A� � ��
 $ ���� 9 � � � � � ����� �� & � � �� � 	 � � 
 � �& *� � � ) �� E ��
% �*� � ��  3  

� ;� E � 2� � ' � �� � �� - � �: 

 

 

 

% D ) �         qu   =   0. 25 x  44 +  0 +  0. 5 x  1. 7 x  2 x  28  

                       =    58 . 6  t / m 2 

                Q u  =   58 . 6 x  2 x  2 

                         =  234. 4  t  

                Q al l    =   234. 4/ 3 

                         =    78 . 13  t o n  * * * *    

 

� ��  ��  1:   58   ��  

� ��  ��  2:   68   ��  

� ��� � �  3 :   78   ��  

� ��  ��  4:   8 8   ��  
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������: 8 8  

	 
�� �: 
� $ � � *� � <�� $ � �� � � � �A� � ��
 $ ���� 9 � � � � � ����� �� & � � �� � � �& �� � � ��� % ��� �H � � � 
	 � � 
 � �& *� � � ) �� E �� % �*� � ��  3  

� ;� E � 2� � ' � �� � �� - � �: 

 

 

 

% D ) �          qu  =   1 x  20. 3  +   0  +   0. 5 x  1. 7 x  2 x  5. 9  

                      =    30. 33 t / m 2 

                 Q u  =  30. 33 x  2 x  2 

                        =   121. 32  t o n s  

                 Q al l   =   121. 32/ 3     =    40. 44 t o n s  * * * * *  

 

� ��  ��  1:   � � ' �� .  30  ��  

� ��� � �  2 :   � � ' �� .  40  ��  

� ��  ��  3:   � � ' �� .  50  ��  

� ��  ��  4:   � � ' �� .  60  ��  
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������: 8 9  

	 
�� �: 
 � � � � � � ��� � �� � � �  M o d i f i e d  P r o c t o r  
 � � M o l d  �� � �  % & �� 6 *� � � ;� � �� ) � �  6 

� �<�  & ;�  4. 58 4 � �<�   A��� <�� $ � �� �� � �  10 l b � ' � ' � � & ;�  18  � �<�  � � ' � �� ) � � � % � 8<�
� �� � � � 5 � �<�  � �<� ) '  56 � � �<�  2) �� � � � ���
 � �
 � � � � � � ��� � �� 
 � � ;� ��� 2) �� � � � ���
 � �

 � � � � � � ��� � ��  *�� � ���  � ��� � �� ���� � ���  ��� *� % �*� � �� % �*� ��   

 

% D ) �                 V      =      0. 78 5 x  ( 6/ 12)
2

 x  ( 4. 58 4/ 12)    =    0. 075 f t
3

 

                       E       =     10 x  ( 18 / 12)  x  5 x  56/ 0. 075     =    56, 000 f t -l b/ f t
3

 

  

� ��  ��  1:   12400 f t -l b/ f t ^ 3  

� ��  ��  2:   248 00 f t -l b/ f t ^ 3  

� ��� � �  3 :   56000 f t -l b/ f t ^ 3 

� ��  ��  4:   62400 f t -l b/ f t ^ 3 

 

 

������: 9 0  

	 
�� �: 
� � �� � � . $ � � �� ) �� � �� � <�� $ � �� � � � �A� % & � % �(�� ) �� E �� ��� % & � % �(� s p un  % & �� 6 *� �
� ;� � �� ) � �  60 H �. 
 � � Saf e t y  F ac t o r   � �� F � � ' �� � � % �*� � ��  2. 5  � �� �<� � �� ���
� �� $ � � 
 $ � (��*� �� � <�� $ � �� % & � % �(�)  

� ;� E � 2� � ' � �� � �� - � �: 

 

 

% D ) �             28<� ���6 ��     =   ( 22/ 7)  x  0. 6 x  12      =    22. 62  m 2 
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                    28<� ���$ � ��  ��    =    0. 78 5 x  0. 6 x  0. 6    =   0. 28 3  m 2              
                         F s     =       0. 4 x  10 x  22. 62     =    9 0. 48       t o n s  

                          Q b   =      9  x  10 x  0. 28 3        =    25. 47     t o n s  

                   F s  +  Q b   =     115. 9 5   t o n s   

                     � �� ) �� � �� � <�� $ � �� � � � �A� � ) �� E ��    =    115. 9 5/ 2. 5      =    46. 38   t o n s  * * * * *  

 

� ��  ��  1:   19   ��  

� ��  ��  2:   36  ��  

� ��� � �  3 :   46  ��  

� ��  ��  4:   115  ��  

 

 

������: 9 1  

	 
�� �: 
 � � � �  �� % & � % �(�� �� � � � � ;� $ � ��  �� & ��% $ ) ��� ��� � �  0. 2x 0. 2 m .  � � � �� � �  5 

m .  ) � �� 
 � � �<� � �� % $ � �� � �*��  H 0�� ��� *�  c  =  1. 2 T / m ^ 2 � ) '  An g l e  o f  I n t e r n al  

F r i c t i o n  =  0 � *� & ��� � ' & ��# �G� � � � 0� % � � '  ( Ad h e s i o n  F ac t o r  )  � ' $ � *� � 6 ��
� �� � � � � �� � �� % $ � �� � �*�� % �*� � ��  1 � *� � � �  �� � �� � ���6 �� � �� � ��� � ��� % & � % �(���
� *� % �*� � �� % �*� 
 �   

 

% D ) �         F s    =    1 x  1. 2  x  4 x  0. 2 x  5 

                      =     4. 8    t o n s  * * * * *     
  

� ��  ��  1:   2. 4 t o n  

� ��� � �  2 :   4. 8  t o n  

� ��  ��  3:   5. 6 t o n  

� ��  ��  4:   9 . 6 t o n  

 

 

 

 

 

������: 9 2  
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�� �: � �� $ � � �� � � 9 � � � � � � � �  *�% � 8���  (St r i p  F o o t i n g )  ���� ' � ��  F1 % � � 
� � 6 �� � ��  $ � *� �
� <�� $ � ��  � ��  18  k N / m 3,  c =  5 k P a,  i n t e r n al  f r i c t i o n  an g l e = 0 
� � �� � � . $ �  Gr o s s  

U l t i m at e  Be ar i n g  Cap ac i t y  % �8�� N c  =  5. 14 ,  N q =  1 ,  N γ =  0  

  

% D ) �             qu    =   5 x  5. 14   +   18  x  1 x 1       

                            =    43. 7   k P a * * * * *  

 

� ��  ��  1:   25. 7 k P a 

� ��  ��  2:   35. 7 k P a 

� ��� � �  3 :   43. 7 k P a 

� ��  ��  4:   53. 7 k P a 

 

 

������: 9 3  

	 
�� �: � �� $ � � �� � � 9 � � � � � � � �  *�% � 8���  (St r i p  F o o t i n g )  ���� ' � ��  F0. 5 % � � 
� � 6 �� � ��  $ � *� �
� <�� $ � �� � ��  20 k N / m 3,  c =  10 k P a,  i n t e r n al  f r i c t i o n  an g l e =  0 
� � �� � � . $ �  Gr o s s  

U l t i m at e  Be ar i n g  Cap ac i t y  % �8�� N c  =  5. 14 ,  N q =  1 ,  N γ =  0  

 

% D ) �             qu    =   10 x  5. 14   +   0. 5 x  20 x  1       

                            =    61. 4   k P a * * * * *  

  

� ��  ��  1:   25. 7 k P a 

� ��  ��  2:   35. 7 k P a 

� ��� � �  3 :   61. 4 k P a 

� ��  ��  4:   51. 4 k P a 

 

 

 

 

 

 

������: 9 4 
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�� �: � �� $ � � �� � � 9 � � � � � � � �  *�% � 8���  (St r i p  F o o t i n g )  ���� ' � ��  F2 % � � 
� � 6 �� � ��  $ � *� �
� <�� $ � �� � ��  21 k N / m 3,  c =  12. 5 k P a,  i n t e r n al  f r i c t i o n  an g l e =  0 
� � �� � � . $ �  Gr o s s  

U l t i m at e  Be ar i n g  Cap ac i t y  % �8�� N c  =  5. 14 ,  N q =  1 ,  N γ =  0  

  

� ��  ��  1:   106. 25 k P a 

� ��  ��  2:   64. 25 k P a 

� ��� � �  3 :   43. 70 k P a 

� ��  ��  4:   61. 40 k P a 

 

 

 

C o m p a c t i o n  

 

������: 9 5  

	 
�� �: 
A� � � ' & � � �$ ) �� ��� � � � �� & �� � � � � � ��� � �� 
 � $ ��� �� ) �� � 8�  

 

� ��  ��  1:   � � � �� �(� � � � ��� � �� ���� � ���  

� ��  ��  2:   � � � �$ � � � � *� ��� � �� � 8<� ���� � ��� . � � � �� 8<�  *� � : � ��  

� ��� � �  3 :   � � � �$ � � � � *� � $ �� & ;� & A� � ) ' � � � �� 8<� ���% $ �� ' & � 

� ��  ��  4:   $ � � *� � � � �$ � � � � *� � $ �� ��� � �� % �8��� *�� � *� � ��� �� � � � % �*� � �� � ;� � � 
 

������: 96 

	 
�� �: � � � � � ��� � �� �� � � �� � � $ ��  (D r y  s i d e )   

  

� ��  ��  1:   � � � 
 � �� - � � � � �  �� � � '  (Sh e e p  f o o t )  

� ��  ��  2:   � � � 
 � �� - � � � � � & ��� & ' % �8��  (V i br at i n g  R o l l e r )  

� ��� � �  3 :   % �8��% 2���2) �� � � � 
 � � � � � � ��� � � � �$ � � � � *� � $ �� 
' % 2����0<�  

� ��  ��  4:   & ��� � ' & ��# �G� � � �H 0��� ���� � �� 
'  ��� � � *� � � ��� �� � � �� � % � K� �  

 

������: 97 

	 
�� �: � �� ������ *�  CBR  & ;� ���& A�   
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� ��� � �  1 :   $ �� � ) A�  

� ��  ��  2:   � �� ) ;� � ��  

� ��  ��  3:   � �� % $ � �� � � � � � � �  

� ��  ��  4:   � �� % $ � �� � � �  ' � �� �� � �  

 

 

������: 9 8  

	 
�� �: � ��  �� �� *� � � �� ) ;� � �� H 0�� ��� *�  - 2. Gs  =  2. 730 �� ��� � � � �� ) ��  M o d i f i e d  

P r o c t o r  Co m p ac t i o n  T e s t  �� �� *� � � � �$ � � � � *� � $ �� & ;� & A�  =  1. 8 68  g / c m ^ 3 

	 � � 
 � �� � ��� . � <�� ���% $ �� ' & ����& A�  O M C =  14. 9 5%  - �� & � �� � - � � ��� 
� � � ' ����

 � � *�� � *� � � ' $ � *� � % �(� � �� ��*��J �� �� � � � �� ;*% ) � 	 � � 
 � �� � ��� . � <�� ��� O M C � �< �� �
� *� � � � �$ � � � � *� & ;� & A� % �*� 
 �   

 

 

% D ) �                   2. 73 x  1/ ( 1 +  0. 149 5 x  2. 73)  

                         =    1. 9 39    g / c m
3

 * * * * *  

 

� ��  ��  1:   1. 8 68  g / c u. m .  

� ��  ��  2:   2. 730 g / c u. m .  

� ��� � �  3 :   1. 9 39  g / c u. m .  

� ��  ��  4:   0. 732 g / c u. m .  

 

 

������: 99 

	 
�� �: 
 � � � � � � ��� � �� � � �  M o d i f i e d  P r o c t o r  
 � � M o l d  �� � �  % & �� 6 *� � � ;� � �� ) � �  6 

� �<�  & ;�  4. 58 4 � �<�   A��� <�� $ � �� �� � �  10 l b � ' � ' � � & ;�  18  � �<�  � � ' � �� ) � � � % � 8<�
� �� � � � 5 � �<�  � �<� ) '  56 � � �<�  2) �� � � � ���
 � �
 � � � � � � ��� � �� 
 � � ;� ��� 2) �� � � � ���
 � �

 � � � � � � ��� � ��  *�� � ���  � ��� � �� ���� � ���  ��� *� % �*� � �� % �*� ��   

 

� ��  ��  1:   12400 f t -l b/ f t ^ 3 

� ��  ��  2:   248 00 f t -l b/ f t ^ 3 



��������	�
�� �.  ��� �  � �� � � �� � 59/59 

� ��� � �  3 :   56000 f t -l b/ f t ^ 3 

� ��  ��  4:   62400 f t -l b/ f t ^ 3 

 

 

������: 1 0 0  

	 
�� �: - �� % � � % 2���2) �� � � � 
 � � � � � � ���  � *� � � � �$ � � � � *� � $ �� & ;� & A�  (M ax i m um  D r y  

D e n s i t y )  � ) ' � *� � � � �� 8<� � � ��� % $ �� ' & � ( O p t i m um  M o i s t ur e  Co n t e n t )  
'
% � ) ��� � � � ) � �� *� � ��   
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